THi2 4 FE

NL—8RZRNL—FR—ILKE

FERIR-HATHE

1 # H T24%F48218 () -228 (A)
2 £ 15
BF  BIITWIX WhER (A-Ba—Fk) <4/21> FEHE 8:00
HENITILIE FIhsEtk (A -Bad—Fhk) <4/22> 5 8:00
ZF RBlTixzidt 2fFER (A-Ba—Fhk) <4/21> 5 8:00
HBJIITHIZIBA 2%k (C-Da—Fk) <4/21> FiE 8:00
JENTIIE JhER (A-Ba—Fk) <4/22> FEE 8:00
BJITILE BAhERR (C-Da—bk) <4/22> BEiiE 8:00

B 8:30

HABI

&= 8:30
&= 8:30
HERHmE 9:00

&R

AGHE 9:00

9:00

&R 9:00
&R 9:00

9:00

B¥FR)-J<1HBE>
B3F—LTOVITHBARLEEIF, EIbR-FRETIEMEZRD D
BITOVIRTUDF—LOHAL, FEDFRREICIYIF—LARBN—FAVMNIEHT D,
ST yDIF2H A B URE, fIOREDBETF—LMNITI,

25 — 1
2[25— 1% 0

1 ST
. Al
K W
(25 — 1)
A2 2|25 — 12| o B4
> . = J
HRA
25 — 1 r —
2|25 — 17} o —

- 3 A ~ - P
N EEE}E ........................................
4 S?)

N B1
VAN =]
25 — 1
5
Sy =
25 — 20 25 — 10
2|20 — 25| 1 2|25 — 13| 0
26 — 24 _
6
g g | —

BFRENM—FAVR<2BH>
SAVT D IE2RE B URIEHIOREDEITF— LTS

A3

25 —
%_

K W

A4

B3

8
1%

1 ]
- IN
K W

[25— 1?
2125 — 9| 0

7
it

3
- A2

&
2|25 — 14] 0

7 7

o

23 — 2
2|25 — 15 1
25 — 17,

25 —
%_

iR P S

3L

IS

St <H
op

7 S3
A3
g B
(25 — 10)
2|25 — 14| O0 A5(B5)
3 . =
HER
r N
. _
9 7 7
I
5 S3
B2
g B
BL
25 — 13
2[24 - 2% 1
25 — 21
6
ERFA
BL
18
1% 0
7
B1 .
AR
25 — 8
%_ﬂo
8 S?)
A=




TFFREIOVIEB<IHBE>
- 2TNITAYIT, FEDIEEEDTS,
=R F—LEZTOVHITIUN, 2O THLHIA>-BEIT—FKEh3,
BT OVIRTADF—LILRBN—F A MZXEE TELLY,
BF—LTOVITHEARILEAE. EYrR-BARTIERZRDS,
SAVTY UL BRICEET S,

T ST 2 32
Af C1
i RS M E
25 — 1 25 — 12
A5 2[25 — 1% ol B4 c4 2[25 — 1% olL_c3
2 3
B I = Al
[25 — 2c] [25 - j | [25 — 1? [25 - 1? |
225 — 16| 0 2125 - 12| 0 2|25 — 16| 0 225 - 17] 0
3 14
A c2
i 2 fE &
[25 — 2c] [25 — 2c]
2|22 — 25] 1 2|25 — 22| 0
25 — 20 —
4 15
B HirE
5 6 33
B1 - D1
R B & W
(23 — 25) (25 d)
B5 2|25 — 14| 1 B3 C5 2|25 — 19 0L_D3
- 25 — 1] - L~ )
AG =Y #HE
[25 sj (25 — 27) _ [25 1? (25 — 12) _
2|28 — 26| 0 2|25 — 20| 0 2125 — 14| 0 2[21 — 25] 1
25 — 15
7 1 7 18 ~ 7
B HER - e I
] 9
N B2 D2
PRI it P4
25 — 21
9 20
B B 2
25 — 21 .
[25 - 2j 2[25 — QJOH_ [28 - 2ej [25 — ej
218 — 25| 1 — 2|25 — 22| 0 2[25 — 4]0
9 — 25 — —
0 21
A3
= B - L
[25 — 1sj
225 — 10| 0
T1
o R

A-BI—hILEshEHk ] C-Da—hIEAZ R



RFREBN—FTAVME<2BE>
DAV Ty UIF 2 A B UREEIOREDATF—LMITI,

AL

A2

(55 — 13
25 — 13 0

A4

25
2{25

— 1
— 2

B3

(25 — 16
25 — 14| 0

6
ﬂo

‘Wé‘?é

B4

D3

A5

1 Si
v IS
2
2
it 2 A
2[%91 — 5% 1
26 — 24
3
B 2
7
TN »
2[52 — ﬁ] 0
: -
B il
2
6
J‘%_ m B1
2[52 — }ﬁj 0
7 S4 N
s i

A-Ba—rB)II 2R

‘7‘}<IJ.I

25 — 8
2{25—15] 0

25 — 23)
2|25 — 22

25 — 23
2{25 — 1% 0

C3

27 — 25)
2|25 — 22

31

e

31

# E

) S3
D1 -
K W
[25 - Ij
225 — 21| o
9
KLU
0
o 0
HER
&
2[25 — 21
1
& &
. 12
B B
&
2[25 — 9| 0
13
it P
0
o 4
|
[25 - "j
2|21 — 25| 1
25 — 15
15 S2
w B

C-Da—hEREAHFR]

DL

DL

CL

CL



